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Find the exponential function f(x) =a- 2b% whose graph is shown

below 3 Know b (o,»g), (\,-\-}) Vire ow -HM %U‘D“FQ/\
(/K‘—OI%L{\\:,CB % (*:I;J%L’O—’“LO
1le 6)/ Mokl He ea\u\fj'«éw W

plag >~ K= 0 %’J -

'lvj;u ‘OX
1,-0 ( \‘Ebﬂ—‘ &’g'
(8,-5) B,@
VA R S .
@mw*vwkumimCD" ) 0
VX o™ S od
(xy=[-5) C- g = g
AL \:.\Hra/\/ Ckri\b\ \ (‘,‘H) /e
>
b(1) 2% T 9= 18
"‘JY:(‘S>'3\ X >
-4 - b
= &
[ hoot \N} Kob

naedh o g Q?cpov\e»j I !

(1)

)

g, (1) = g, () = b 2o

D (3)
ke
&D%}<L{/S’> = %M%'\”\S = S Lo
Cotse ed 41
Byy'ts) S o o 9|y
%mL e




F\\/\()\ 4’?/\9 S N 651%% %UU': P'O\X PACEImS
ool (1,2) 5 (30

[
&:P'OL :POL)AQl\rL‘EN" P‘
R
"‘;\ —
2 3
WETLHE 2 3 3 o _ 3 _ 4
e | 4= Po = (%5& =R T T T2
A‘ELY\\:PO\X: —a({ljﬁ ;l_:Oka\ i mg A s
- 2 - X ble  erp. %L*"‘DD(“‘”S hawe
“ﬁ(\ﬁ) &:& 4 posihne \oc%wxcbwyz
+ ot
:y?,\Y\LK
“(\B}Hl
> S
a0 oo 2N o &7) # .
\I'z_(? z 4 s



) =

LT



-3 =2 -1 1 2 4

Find a degree 3 polynomial that has zeros —3, 4 and 5 and in which the coefficient of z? is —12.
The polynomial is  xA3-7xA2+7x+15
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